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17 The scale of a map is 1 : 500 000. 
 On the map the centres of two cities are 26 cm apart. 

 

 Calculate the actual distance, in kilometres, between the centres of the two cities. 

 

 

 

 

 

 

 

 

 

 

 Answer  km [2] 

 

 

 

18 Show that  3 –2 + 2 –2 = 
36

13

. 

 Write down all the steps of your working. 

 

 Answer 

 

 

 

 

 

 

 

 

 [2] 
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2 Aminata buys a business costing $23 000. 
 

 (a) She pays part of this cost with $12 000 of her own money. 

 

 Calculate what percentage of the $23 000 this is. 
 

 

 Answer(a)  % [1] 

 

 (b) Aminata’s brother gives her 32% of the remaining $11 000. 
 

 Show that $7 480 is still needed to buy the business. 
 

 Answer(b) 

 

 

 

 

 [2]

 (c) Aminata borrows the $7 480 at a rate of 3.5 % per year compound interest. 

 

 Calculate how much money she owes at the end of 3 years. 

 

 

 

 

 

 Answer(c) $   [3] 

 

 (d) In the first year Aminata spent $11 000 on salaries, equipment and expenses. 

 

5

2

 of this money was spent on salaries, 0.45 of this money was spent on equipment and the 

remainder was for expenses. 

 

 Calculate how much of the $11 000 was spent on 
 

 (i) salaries, 

 

 Answer(d)(i) $   [1] 

 

 (ii) equipment, 

 

 Answer(d)(ii) $   [1] 

 

 (iii) expenses. 

 

 Answer(d)(iii) $   [1] 

 

 (e) The three items in part (d) are in the ratio salaries : equipment : expenses = 0.4 : 0.45 : 0.15 . 
 

 Write this ratio in its simplest form. 

 

 Answer(e)  :  :   [2] 
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10 (a) Tatiana goes for a walk. 

 

 (i) She walks for 15 minutes at a speed of 80 metres per minute. 

 

 Calculate the distance she walks. 

 

 

 

 

 

 Answer(a)(i)  m [1] 

 

 (ii) She then walks for a further p minutes at w metres per minute. 

 

 Write down an expression, in terms of p and w, for the total distance Tatiana walks. 

 

 

 

 

 

 

 

 Answer(a)(ii)  m [1] 

 

 (iii) Write down an expression, in terms of p and w, for Tatiana’s average speed, in metres per 

minute. 

 

 

 

 

 

 

 

 

 Answer(a)(iii)  m/min [2] 
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1 A concert hall has 1540 seats. 

 

 Calculate the number of people in the hall when 55% of the seats are occupied. 

 

 

 

 

 

 

 

 

 Answer   [1] 

 

 

2 (a) Write down in figures the number twenty thousand three hundred and seventy six. 

 

 

 

 Answer(a)   [1] 

 

 (b) Write your answer to part (a) correct to the nearest hundred. 

 

 

 

 Answer(b)   [1] 

 

 

3 For an equilateral triangle, write down 

 

 (a) the number of lines of symmetry, 

 

 Answer(a)   [1] 

 

 (b) the order of rotational symmetry. 

 

 

 

 Answer(b)   [1] 

 

 

4  

A B

 

 

 Write down the geometrical name for  

 

(a) shape A, Answer(a)  [1]

 

(b) shape B. Answer(b)  [1]
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5 Mark and Naomi share $600  in the ratio Mark : Naomi = 5 : 1. 

 

 Calculate how much money Naomi receives. 

 

 

 

 

 

 Answer $   [2] 

 

 

6 Calculate the area of a circle with radius 6.28 centimetres. 

 

 

 

 

 

 

 Answer  cm
2

[2] 

 

 

7 The scale on a map is  1 : 20 000. 
 

 Calculate the actual distance between two points which are 2.7 cm apart on the map. 

 Give your answer in kilometres. 

 

 

 

 

 

 

 

 

 Answer  km [2] 

 

 

8 (a) Find m when  4
m

 × 4
2

 = 4
12

. 

 

 

 

 

 

 

 Answer(a) m =   [1] 

 

 

 (b) Find p when   6 p ÷ 67  =  62. 
 

 

 

 

 Answer(b) p =   [1] 
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5 Mark and Naomi share $600  in the ratio Mark : Naomi = 5 : 1. 

 

 Calculate how much money Naomi receives. 

 

 

 

 

 

 Answer $   [2] 

 

 

6 Calculate the area of a circle with radius 6.28 centimetres. 

 

 

 

 

 

 

 Answer  cm
2

[2] 

 

 

7 The scale on a map is  1 : 20 000. 
 

 Calculate the actual distance between two points which are 2.7 cm apart on the map. 

 Give your answer in kilometres. 

 

 

 

 

 

 

 

 

 Answer  km [2] 

 

 

8 (a) Find m when  4
m

 × 4
2

 = 4
12

. 

 

 

 

 

 

 

 Answer(a) m =   [1] 

 

 

 (b) Find p when   6 p ÷ 67  =  62. 
 

 

 

 

 Answer(b) p =   [1] 
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12 (a) Write 1738.279 correct to 1 decimal place. 

 

 

 Answer(a)   [1] 

 

 (b) Write 28 700 in standard form. 

 

 

 Answer(b)   [1] 

 

 (c) The mass of a ten-pin bowling ball is 7 kg to the nearest kilogram. 

 

 Write down the lower bound of the mass of the ball. 

 

 

 

 Answer(c)  kg [1] 

 

 

13 Paulo invests $3000 at a rate of 4% per year compound interest. 

 

 Calculate the total amount Paulo has after 2 years. 

 Give your answer correct to the nearest dollar. 

 

 

 

 

 

 Answer $   [3] 

 

 

14 A train leaves Barcelona at 21 28 and takes 10 hours and 33 minutes to reach Paris. 

 

 (a) Calculate the time the next day when the train arrives in Paris. 

 

 

 

 

 Answer(a)   [1] 

 

 

 (b) The distance from Barcelona to Paris is 827 km. 

 

 Calculate the average speed of the train in kilometres per hour. 

 

 

 

 

 

 

 

 Answer(b)  km/h [3] 
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8 A meal on a boat costs 6 euros (€) or 11.5 Brunei dollars ($). 

 

 In which currency does the meal cost less, on a day when the exchange rate is €1 = $1.9037? 

 Write down all the steps in your working. 

 

 

 

 

 

 

 

 

 

 

 Answer   [2] 

 

 

 

9 Simplify 32x 8 ÷ 8x 32. 
 

 

 

 

 

 

 Answer   [2] 

 

 

 

10  

C

B
A 17 cm

9 cm
NOT TO
SCALE

 

 

 In the triangle ABC, AB = 17 cm, BC = 9 cm and angle ACB = 90°. 

 

 Calculate AC. 

 

 

 

 

 

 

 

 

 

 Answer AC =  cm [3] 

 

7 

© UCLES 2011 0580/13/M/J/11 [Turn over 

For 

Examiner's 

Use 

18 Eva invests $120 at a rate of 3% per year compound interest. 

 

 Calculate the total amount Eva has after 2 years. 

 Give your answer correct to 2 decimal places. 

 

 

 

 

 

 

 

 

 

 

 Answer $   [3] 

 

 

 

19 At a ski resort the temperature, in °C, was measured every 4 hours during one day. 

 

 The results were     –12°,     –13°,     –10°,     4°,     4°,     –6°. 

 

 (a) Find the difference between the highest and the lowest of these temperatures. 

 

 Answer(a)  °C [1] 

 

 

 (b) Find 

 

 (i) the mean, 

 

 

 

 

 Answer(b)(i)  °C [2] 

 

 (ii) the median, 

 

 

 

 

 Answer(b)(ii)  °C [2] 

 

 (iii) the mode. 

 

 

 

 

 

 Answer(b)(iii)  °C [1] 

 

 

 Question 20 is printed on the next page. 
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1 Mr and Mrs Clark and their three children live in the USA and take a holiday in Europe. 

 

 (a) Mr Clark changes $500 into euros (€) when the exchange rate is €1 = $1.4593. 

 

 Calculate how much he receives. 

 Give your answer correct to 2 decimal places. 

 

 

 

 

 

 

 

 

 Answer(a) €   [2] 

 

 

 (b) Tickets for an amusement park cost €62 for an adult and €52 for a child. 

 

 Work out the cost for Mr and Mrs Clark and their three children to visit the park. 

 

 

 

 

 

 

 

 

 

 Answer(b) €   [3] 

 

 

 (c) Mr Clark sees a notice: 

 

 

SPECIAL OFFER! 

 

Family ticket €200 

 

 

 Work out €200 as a percentage of your answer to part (b). 

 

 

 

 

 

 

 

 

 

 

 Answer(c)  % [1] 
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1 Falla buys 3000 square metres of land for a house and garden. 

 The garden is divided into areas for flowers, vegetables and grass. 

 

 He divides the land in the following ratio. 

 

 house : flowers : vegetables : grass = 4 : 7 : 8 : 5 

 

 (a) (i) Show that the area of land used for flowers is 875 m2

. 

 

 Answer(a)(i) 

 

 

 

 

 

 

 

 

 [2] 

 

 (ii) Calculate the area of land used for the house. 

 

 

 

 

 

 

 

 

 

 Answer(a)(ii)  m
2

 [2] 

 

 

 (b) Write down the fraction of land used for vegetables. 

 Give your answer in its simplest form. 

 

 

 

 

 

 

 

 

 

 

 Answer(b)   [2] 

 

 

3 

© UCLES 2011 0580/32/M/J/11 [Turn over 

For 

Examiner's 

Use 

 (c) During the first year Falla plants flowers in 64% of the 875 m2

. 

 

 Calculate the area he plants with flowers. 

 

 

 

 

 

 

 

 

 

 

 Answer(c)  m
2

 [2] 

 

 

 (d) Falla sells some of the vegetables he grows. 

 These vegetables cost $85 to grow. 

 He sells them for $105. 

 

 Calculate his percentage profit. 

 

 

 

 

 

 

 

 Answer(d)  % [3] 

 

 

 (e) To buy the land Falla borrowed $5000 at a rate of 6.4% compound interest for 2 years. 

 

 Calculate the total amount he pays back at the end of the 2 years. 

 Give your answer correct to the nearest dollar. 

 

 

 

 

 

 

 

 

 

 

 

 Answer(e) $   [3] 

 

 

 

3 

© UCLES 2011 0580/32/M/J/11 [Turn over 

For 

Examiner's 

Use 

 (c) During the first year Falla plants flowers in 64% of the 875 m2

. 

 

 Calculate the area he plants with flowers. 

 

 

 

 

 

 

 

 

 

 

 Answer(c)  m
2

 [2] 

 

 

 (d) Falla sells some of the vegetables he grows. 

 These vegetables cost $85 to grow. 

 He sells them for $105. 

 

 Calculate his percentage profit. 

 

 

 

 

 

 

 

 Answer(d)  % [3] 

 

 

 (e) To buy the land Falla borrowed $5000 at a rate of 6.4% compound interest for 2 years. 

 

 Calculate the total amount he pays back at the end of the 2 years. 

 Give your answer correct to the nearest dollar. 

 

 

 

 

 

 

 

 

 

 

 

 Answer(e) $   [3] 
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1 At a theatre, adult tickets cost $5 each and child tickets cost $3 each. 

 

 (a) Find the total cost of 110 adult tickets and 85 child tickets.  

 

 

 

 Answer(a) $   [2] 

 

 (b) The total cost of some tickets is $750. 

 There are 120 adult tickets. 

 

 Work out the number of child tickets. 

 

 

 

 Answer(b)   [2] 

 

 (c) The ratio of the number of adults to the number of children during one performance is  

 

 adults : children = 3 : 2. 

 

 (i) The total number of adults and children in the theatre is 150. 

 

 Find the number of adults in the theatre. 

 

 

 Answer(c)(i)   [2] 

 

 (ii) For this performance, find the ratio   total cost of adult tickets : total cost of child tickets. 

 Give your answer in its simplest form. 

 

 

 

 

 Answer(c)(ii)  :   [3] 

 

 (d) The $5 cost of an adult ticket is increased by 30%. 

 

 Calculate the new cost of an adult ticket. 

 

 

 

 Answer(d) $   [2] 

 

 

 (e) The cost of a child ticket is reduced from $3 to $2.70. 

 

 Calculate the percentage decrease in the cost of a child ticket. 

 

 

 

 

 Answer(e)  % [3] 

 

 


